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CERTIFICATE IN SHOE UPPER CUTTING 

Term-End Examination 

June, 2011 

OET-012 : MATERIAL COSTING AND CUTTING 

Time : 2 hours 	 Maximum Marks : 100 

Note : All the questions are compulsory. 

1. 	Match column 'A' with column 'B' 
Column 'A' 	Column 'B' 

1x10=10 

   

(a)  

(b)  

(c)  

(d)  
(e)  

(f)  

(g)  

(h)  

(i)  

(j)  

8% Defective 
Area 
12 —14 mm 

Interlocking 
waste 
Third waste 
Goat leather 

Synthetic 

S (1.098 +  
A 

Base x height 

Weighted Norm 
in Paris point 
Size difference 
in English size 

(I) ± 3.5% 

(II) Parallelogram 
Area 

(III) B grade leather 

(IV) Coated Fabric 
(V) Gross Area for 

split leather 
(VI) ± 8.46 mm 

(VII) Grain matching 

(VIII) Leather grade 
waste 

(IX) First waste 

(X) Lasting Allowance 
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2. 	Write short notes on the following : 	6x5=30 

(a) Marking up (Layout) method of costing 

(b) Non - Woven Fabric 

(c) Work Ticket 

(d) Sorting of leather 

(e) Cutting Faults 

3. 	Explain the documentation work required in the 	8 
cutting department 

4. How you will cut the nubuck and suede leather ? 	8 
Explain. 

5. What faults occurs during cutting ? How you 	8 
will correct them ? 

6. 	What is the graphical method of costing ? 	8 
Explain the disadvantages of this method. 

7. 	Explain the characteristics of goat glazed leather. 	8 

8. What do you mean by production planning ? 
What points will you keep in your mind while 
preparing production plan ? 	 1x20=20 

OR 
What do you mean by sorting ? How you will do 
the sorting of goat leather ? 
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1. -RP:sT 'A' 	T ItaT 'B' 

"MTN 'A' 

HZ111 W4 I 

'B' 	1x10=10 

(a) 8% ttlipt (I) ± 3.5% 

(b) 12-14 PI*. (II) ti4-11-1( Wg117 

Wr 4-11FF 

(c) •-dtclIc4141 (III) Bas 	T wisi I 

(d) 714 Trff (IV) '41e.g *-417w 

(e) ml CtA (V)  fp:rf--ld 114-1 

T,fRi $ 

ft:-PreW (VI)  ± 8.46 mm 

(g) S (1.098 + —AS  ) 	(VII) 1)7 Trt-eri I 

(h) 31TeT7 x UT1 	1:14-1 

11-1 I 

(i) Tri aftti qi*d 	(IX) Trgrr 	 
(j) 3 f 0*.1 	1-11*:11 3iTt (X) 'TfltT 51I ciNTff 
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2. 	rrii-iicirigd TIT TtfkRr re.u-11 itii fcaf 	: 
(a) Trarr 317 (aTrua) Nig 	I 

(b) 	 vi -FT *Lis' 

(c) .14) fe*a I 

(d) 7111" iaT1 I 

(e)  

6x5=30 

3.  8 .4) 	if 	tr *Fr-A 444 37-4FTwttht.? 	1 

4.  3117 vich 31 	s711* 	TZ11 Fcmi mchit T411 8 

t-14-11* 	I 

5.  cr, 	TP:r7 c11-1-7# 114141 	? 3TPT 8 

PcM1 	Ict)1( 

6.  fill -̀bct)(4 Fa rq 	Tr t? 	ROT * 8 

-.111 -41-A7 

7.  ThZ 14J-5 	f 	W-11 	I 8 

8.  3c(410 	aTrq .4,Err 	t ? 317 

aril viTzi 61-6-f 010 Tr 9:fF TZtit ? 	1x20=20 

31.4-41.  

mi 4-1 	4-er. 	3TrErwr err afirwr t? aTrtr 

cb.a ? 
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